Boat club member

-10.

What effect does the current level of towpath mooring have on your enjoyment of the waterway?
Good........... Bad...\..... None........cu..... Other......ue...

Do you think that there is a need for change in the way that British Waterways manages long term
towpath moorers? Yes. Y [N —

Do you think that the existing problems would be resolved if British Waterways strictly enforced the so
called “14 Day Rule”? Yes....X . No...........

Do you think that towpath moorers should be charged a daily fee (ie £20.00 per day) for staying longer
than the allowed period in one place? Yes.. ko, |11 O—

If you answered yes to (4), do you think that British waterways would be able to effectively enforce
collection of these fees? Yes.\7 ... No.........

Yes BY DECHNING T R LiceNeE
If British Waterways carry out the proposed mooring plans, do you think that they could be policed
effectively and enforced by B.W.? Yes...\.. No.......

If these proposals were enforced, can you envisage that they may cause other problems (ie More use of
locks, lack of water, more lock maintenance required)? Yes...\7.. No...........

Do you think that the Lea and Stort is too short a waterway to be used for ‘Continuous Cruising’ ?
Yes...w?, No.........

If you answered yes to (8) do you think that B.W. should seek powers to restrict the number of ‘River Only’
licences that are issued to Continuous Cruisers? Yes.....!{ No........

Do you think that the current problems could be eased if B.W. strictly enforced the amount of time that
you can moor at designated Visitor Moorings, popular mooring sites and lock landings?



.1. Do you think that \B}V should designate certain areas of towpath for use by Continuous Cruisers?

/

13. Do you approve of the proposed reduction from 14 days to 7 of the general right to moor on the towpath
(other than specific visitor mooring restrictions) for the upper Lee and the entire Stort and the associated
reduction in number of places (nei\gh/bourhoods) defined for the purposes of apply_ing the limit to just 6
(from over 30)? b (L - 1o P——

Please make any other comments or suggestions that you may have below.




